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Rechthoek in ovaal

7. AB  =  2 cos "  + 2

AD  =  2 sin "

O  =     AB @ AD =  (2 cos "  + 2) @ 2 sin "  =  2 @ 2 sin " cos " + 4 sin "

=  2 sin 2"  + 4 sin "

8. O  =   2 sin 2"  + 4 sin "

dO
))  =  2 @ 2 cos 2"  + 4 cos 2" =  4 cos 2" + 4 cos "  =  4 @ (cos 2" + cos ")  =
d"

=  4 @ (2 cos (½ (2" + ")) @ cos (½ (2" – "))  =

=  4 @ (2 cos 1½ " @ cos ½")  =  

=  8 @  cos 1½ " @ cos ½"

dO
9. Maximale oppervlakte ! ))  =  0

d"

8 @ cos 1½" @ cos ½"  =  0

cos 1½"  =  0 v cos ½ "  =  0

1½"  =  ½B + k @ B v ½"  =  ½B + k @ B

"  =  1/3 B + k @ 2/3 B v "  =  B + k @ 2B

op 0  <  "  <  ½B "  =  1/3 B

O  =  2 sin 2 @  1/3 B  +  4 sin 1/3 B  =  2 @ ½ /3  +  4 @ ½ /3  =  3/3


